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Write the slope-intercept form of amq
1) 3x+ Ty=-21 2) y=2x=-1
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6Graphing Linear Inequalities

g
&

1) Solve for yl Make sure the equation is in Slope-intercept form.
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2) Graph using slope and y-intercept. mx+b
3) Solid or dashed line?
4) Shade above or below?

**Vertical Lines will be shaded to the right or left
** When the sign in front of the Y is negative, the direction of the inequality
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Graphing Linear Inequalities Dae Period__
Sketch the graph of each licar ncquality.
Py B ysdens
Two on the front...
two on the back.
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- Unt2-sang cauonons & nequares
Name Date:
Graphing Linear Inequalities
Sketch the graph of eachlinear nequalty.
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9) 3x-2y<10

=4

9 ysdeos

10) sx-3y<-is

1) x-y>2
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February 5, 2019, Tuesday

Jan 31-11:06 AM

Price 3%0. 3Sb .
+35(32-cu = |o so Saxlz0° 0,
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- .n.;. Sg=-3

((vanﬁw 5145:7‘— STRES inenisonseind T UPONLY
price 3s+59= 1450

9. bouquet of flowers e
.00 each. You have budgeted 110 more than $28 to spend o

3L +4r 4315
A 4y £317
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Jan 31-11:19 AM

15. Given the equation 2x + 3y = 12, tinto sl o

17.Write

18.Whatis the solution to the inequality 5x — 15 2 2x +6?

a) Tnfinitely many solutions

b) Nosolution

February 08, 2019

GSE Algebral
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Unit 2 Solving Equations and Inequoliies Review
Date:
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1 5lve this system of equations’
wey=7

3x-dy=5

February 6, 2019, Wednesday

Ly your choice

Jan 31-11:20 AM

Jan 31-11:24 AM
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T one duyilyand the cost o o b of el 1o

2 Th senor clascs gkgh School A HighScheatplnned e vggig Moo it
“The senior class af hented and flle 3 Va8 ac 13 BUSES)vith 672 SIUAERSD High
studenis,

a il
number of students i it did e uscs, How many St can a van cary? How many
students cana bus carry?

Ly Aciviy Name. ™1
Applications of Linear Systems D period
1) Huong and ands by « 1 rass. They
Dougt e sppies o he e st 112012 a2 s of
rmertal vt Ko spen S5 on § ey s banchs of ool s, Find o st

Ly Aciviy Name 1
Applications of Linear Systems Date Perod.

1) Huong and R coch e i s by planin oo nd amamenl s, They
ool 12 dayliles and 12 bunches of
Find the cost

of one dayily and the cost of anc bunch of omamental grass.

daylily: 3, bunch of omamental grass: $7

2) The senior classes at High School A and High School B planned separate trips to New York City.
iorclass at High School A rented and filled 2 vans and 12 buses with 672 students. High
School B rented and filled 12 vans and 5 buses with 414 students. Every van had the same.
umber of students in it as did the buses. How many students can  van carry? How many
students can a bus carry?

AV + 12b= (33 e
JAV+ B5b=yiY

3) The 3 The schoolda iy goss o lling ket 1o sy, Onhe it ayof ket s the
school sold 0 senor cilizen ickets and 6 (UL HEkets for  total oF$102. The school took in ol el erio i ke and sden ket o ol af 102 The ol
$72 on the second day )wlhnsllmmvrmuuvmknmmﬁwluduv\uuk 5 What s the price 720n
each of one senior itizen ticket and one studen ticket o oo o e her o o saden ket

senior citizen ticket: S6, student ticket: S5

4) Imani's school is seling tckets o the annual talent shorw. On the first day of ticket sales he 4) Imani'sschool s selling fickets o the anmual talent show. O the first day of ticket sales the
school sold 12 senior citzen tickets and 4 child tiekets for a fotal of $96. The school took in school sold 12 senior ciizen tckets and 4 child tickets for a ttal of $96. The school to0k in
$110.0n the second day by selling 11 senior citzen tickets and 11 child tickes. What i the price 110 the scondday by sl 1 enior iz ket nd 11 eh ke, What s the rce
each of one senior citizen ticket and one child ticket? each of one senior citizen ticketand one child ticket?

Senior ctizen ticket: 7, child ticket: $3
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February 7, 2019, Thursday Agebra 1: Spieal Uit 1

Block
Crers oner e momber s mafonal Which sctement aneutx—3 s e st

A x-3isrolional
B x-3smalional
c

~ N cepending on fhe viue o1 x.
PRUT— w-y =
\_/ 2_ Moty V5@ V2 Wite your answer i simplest form [—

B em = feet s 12801

Clrcle one: Which measurement is more precise? st

=z O

5 '
4 -\— 5 . How many ferms are in the polynomial?  ~2x:+47 st 125501

LQ w W - Z~+ Subtract polynomials:  (w+4)-(3w+2) -
- . icycle can travel at. second. What s the

b
top speed the bicycle can travel in miles per hour?

(1 mile = 5,280 feet) (N.Q.1b)
- W ..test (ﬂ AOOGmph  B.023mph  C16mph 105600 mph
The widthof which o

(AssE.1b)

27 Juw W;—éﬁ e

Salve the lieral equation for W Gv-y=zz

Az B.6V7 €26 0.2vT0

0.
Whatisthe result of (-6x + 7) + (196~ 112 (AAPR1)

Feb 1-9:15 AM Jan 31-11:28 AM
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February 8, 2019, Friday

| Highly missed from U2ATest

I
T tpic s saimanie | CHOOSE 2
r—
A xty=14
SeEzy=il
| 15) 4 package of hot dogs cost 32 and a package of
by xty=4 ‘hamburger cost $8, You bought a total of 11 1) Solve the system of equations by graphing:
Ix-y=9 packages of meat and you spent $52. How —x+dy=-12
@ xey=4 ‘many packages of hordogsdid you buy? e s
x4y=19 Sytem to salve.
& x+y=le 5
Ix-ly=14 37
MESESZARELG

H

" was collected, How many e type ofticket were sold”

) Tickets o anll-star e 30 510 o sl 0t vee sl 2ad 528

(-1,-33%)

C +_ o\ - qo (1,-533
IOt f)q PN l%
Jan 31-11:27 AM
. £(x)
© gy oy ofvriing 3/ inan _€QUA. hon
© Example: f(x)71x+::£rvh-is:m§:sy—2x+47’\: S
f(x)=5x+2 \/: 5x+7 _
ANz-3 o HXA) =Y
& g{x ?jnszﬁ(d é() 2')- 3 Q,Given(l-(};i;;;;f% ()
A2)= -d +? e
2
Q=

F-2)=-1

g
f0=9+4
P13
\{2 12

1L Givin f(x) = -2(x - 5), find @

~20=-3(x-5)

~£(o A F| Lg’
~3o _%‘

(5

Jan 31-11

:33 AM

$1(x)- 26 3,52)
21=2(2)3
ﬁ((-zu UM -5
BCD1=9-3
Ti-n=5

14h(x)=x

f2)=0

4x,12)

=342

= (5)-b
H=39-L
§=19

-

B
Clu) =23
()= 7 >
‘F(Ln h(-3)=23

()= =2,and h(x) - x' ~3x+5, ind each of the fllowing;
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5(:) 23
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j(_gj:-lo

Jan 31-11:40 AM

February 08, 2019

lgebra 1 ~ U2B Day 1, 2/8/2018 Functions and Relations NOTES
Sy srrlacda PO I hdhas an T2 o\gogsk‘-p

Aulgimn uch that every single 17\ QU hasexactly QNQ

o nomn. These are xhe X-va lves ormw*o?a funchion
o ke, _These ore the y=Voulves orogfiwtofa funchow
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Algebra 1 ~ 28 Day2,2/8/2018 i Name:

Decide whether the graph represents y as 2 fun-tion o1 -

Wi Ha/ B

== TRy

X
‘/\

yes ?
Decide whether the relation is a function. >/
" eS /
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=3 s o—
=35 e ::;
NOT b FUNCON
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Jan 31-11:40 AM

(‘S‘*'

Explore the internet to locate 3 examples of functions & 3 non-examples of functions

Jan 31-11:42 AM
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Define the following vocab:

February 7, 2019 Thursday

Domain, range, slope, end behavior, x-intercept, y-intercept. Include a picture fore each.

Jan 31-11:42 AM

Average Rate of Change (AROC) Notes

Rate of Change

Positive ~

Negative ~

®
e
®
@ Which function has  constant rate of change?
°
®

Vertcal Lines ~

Constant Rate of Change:

between any twa polnts on the lne.

Bxample 1: Find the slope between (2, 4) and (4,8).

_changeiny _rise _
= Changeinx run

2: The table shows the amount of water
evaporating from 2 swimming pool on a hot day.
Find the rate of change bebween 2 hours and 6 hours.

[ T 5 T % ]
[Gallons evaporated

which hs the greatest rate of change?

Whats the value?

Jan 31-11:44 AM

Average Rate of Change HW

D y the average rate.

D

) x=2t0x=

b) x= Ltox=0.

9 x=0tox=1,

@ x=2tox=1

2  identify the

) x=Lrox=1

§ x=2t0x-3.

b) x=0tox=14,

@) x—-Ttox—4.

February 08, 2019

Algebra 1 ~ U2 Day 2,2/9/2018 Characteristics of Linear Functions Notes
Words to know:
> Domain;
> Range:
> Interval of Increase C slope):
> End Behavior:
> xeintercept(s):
> yeintercept:
Examples:
Domain: wintercept:
Range: yintercept
e Interval:
End Behavior:
Asx>-on, 1) >
Asx>en, () >
Domain: xintercept:
Range: yeintercept
Interval:
End Behavior:
As x>0, ) >
s x>0, 1(x) >
Domain: xcintercept;
Range: yeintercept:
> Interval:
End Behavior:
As x>0, 1) >
s x>0, 1) >

Jan 31-11:44 AM

Algebra 1~ Day2,2/9/2018

Characteristics of Linear Functions HW  Name

Domain: intercept:
Range: yintercept:
Interval

End Behavior:
Asxd-en, 16>

Asxden, 100 >

Domain: eintercept:
Range: yeintercept:
Interval:
End Behavior:

Asxdw 0>

Asxdonfe) >
Domain: xintercept:
Range: yintercept:
Interval
End Behavior:

Asxdoen, 109>

Asxdenf) >
ki Domain sintercept:
Range: yintercept:
e Interval:
End Behavior:
Aoxd 0>
a3 Asxdenf)>

Jan 31-11:45 AM

Draw a linear graph

partner identify

domain
range
x-intercept
y-intercept
end behavior

Jan 31-11:45 AM

Jan 31-11:45 AM
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Algebra 1 ~ Day 3,2/12/2018 Arithmetic Sequences Notes
&helps you find
February 8, 2019 Friday Sommon Recursive Formula Explicit Formula
Identify 4 characteristics for each graph. L35

an=ani-22 m=18

‘Youhave read 25 pages of a book. You plan to read an additional 10 pages each night.
a List the first five terms of the sequence.

b. ‘pag d after nnights.

Youare going on vacation. You have S105 (o bring with you. You expect to spend $15 each day. You
want to have $30 remaining at the end of the vacation.
2. Write an explicit formula to represent this scenario

b.. For how many days can you spend $15 each day?

Jan 31-11:54 AM Jan 31-11:58 AM

Even and 0dd Functions Notes

GRAPHICALLY: Algebra ~ Day 3,2/12/2018 ithmeti Name.

1 a 47,10,13,16,19

Afunction is it

Afunction is if. 2 Whatis the common difference for the following sequence: -5,-12, 19,26

Draw an example of an odd and even function. 3. The first five terms of a sequence are 2, 12,22, 32,

opD EVEN 2) Whatis the recursive formula for the sequence?

b) Write the explici formula for the sequence.

©) Whatis the 30% term i the sequence? s =

Neither Gven nor 0dd
1 1 4.You

) Write the fist. five terms of the secquence.

. b) Write an explicit formula o represent the sequence.

ALGEBRAICALLY
Afunction s al
Afunction s al
Afunction s al - T 5 3 - 5

¢ which a 7 1 i3 i 1

makes itan even exponent!)
Esamples:
Even odd Neither
a4 7,02
) Find the frs 5 term of the sequence.
Even/0dd Functions HW/Practice “Tel whether the uncton s even,odd, or nither

0=x % (9= 120 CEET

)9 T(x)=511 00=5

Can a linear funcion ever be even
or odd? Ifs0, sketch an example.

Jan 31-12:00 PM Jan 31-12:00 PM
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